ugh the given

(&

T I |
[
AR

of the line.

HOME\WOKRE

Direetions: The points in the table lie on aline. Find the slope of

the line. ]
P / = j

1. AX 2 4 27« 2.8X 77 7

x| 13| 5|7 k x| -6]-2| 2| 86|
yl2 5|8 | u| y| 8|5 | 2|-1]
1 = R

3. The cost y (in dollars) torent a kayak is proportional to the
number x of hours that you rent the kayak. It co§_j§“\$27; to rent the

kayak for 3 hours.

adA PR Y
a. Write an equation that represents the si’rpoﬂon. Y =7 A

e

b. Interpret the slope.

Ly L A o Vo :’,,i, y y = A - P
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c. How much does it cost to rent the kayak for 5 hourse use the
equation in parf a. ,
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st pages 83 - 84 te shew yeur werk.

5. Solve for k:

4. Solve for x:

6 1 7
2k4s=k+=
53 3

Include Textbook page 578 #s 13 -18, and page 600 #s 5~ 7.
Please start studying for your Quarterly!
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